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Chapter-2/9|5& W mwin-2
Complex Numbers / &60l16\1LI6%TISH61T
Answer the all the questions:
IS G| MGTTES@hS% G0 ailew L Wahdhs:
1). Simplify 192 i" (2-m)
sson: Y 10Z i
2). Find the square root of (-7+24i) (2-M)
(-7+24i) —cranssapars sreins
3). Show that the equation z3 + 2z = 0 has five solutions. (3-M)
Z3 + 2Z = Oacinp swcium'ups 5 Sioysai@mses aer Hipios.
4). Find z71,if z = (2 + 3i))(1 — i) (3-M)
z=02+3i)(1—-1i mmﬂ@bz_l—gg HTGHTS:

ZZ+11) = 0, show that the locus

5). If z=x+iy is a complex number such that Im(
of zis 2x? +2y* + x — 2y = 0 (5-M)

. . . . 2z+1
Zz=x+iyesiB gCarmId @m® SevliGLew Im [E] GTEDILOT ]

DIDWOHSTEO Z —61  BliLmems 2x% + 2y% + x — 2y = 0 aiendbasn_Gs.
6).Show that the points 1,_71 + i\/z—g, and _71 - i? are the vertices of an

equilateral triangle. (3-M)

-1, .v3 ., -1 .\3
1, 7 +1 ? ) LDQ)Q]LD? —1 7 GTGTM LJaTal: 6T 6p(h FIOLISS
Wp&ECE TG BT (pevesTLiLjaTalsarTs: SyevIouLd 6Tes B)mIeys.

.\ 15 .\ 15
7). Show that (159_+39i’) — (%) is purely imaginary. (5-M)

19+9i\15 8+i \15
( 5—3i) - (1+2i) GTGTLIZ] 6(1h (Ip(Lp AUSILD &1 LIGH GTETESHT [ D] 6) 5.
8). show that (2 + i\/§)10 + (2 — i\/§)10is real. (2-M)
(2 + i\/§)10 + (2 - i\/§)10@@ Q\1oui GTGHT GTGT BIMIYS .

140\ 1-i\3 .
9). Simplify(a) - (E) , into rectangular form. (2-M)

1+i\3 1-i\3 ) )
(:) - (E) —| Q6ieum 6ugalsd 61(1PSHIS.



10).If z4,z, and z; are complex numbers such that

|z1| = |2z5| = |z3| = |24 + 22 + 23| = 1 find the value of|zl+zl+zl| =1 (3-M)
1 1 1

Z1,Z,0B@ID Z3 6168 paiiml SevlIouewissit 21| = |z,| = |z3| =121+ 2, + 23| =1

GIIBOEUTHI 2_6iTeNE| 6T6uT60 2+l =1 oam BHBI6YS.
Zq zZq Zq
11). Ifz; =2 — i and z, = —4 + 3i, find the inverse ofz,z, and;z—1(3—M)
2
zy =2 —1 uBpo;Z, = —4 + 3ieaiev; Z1Z5 0B ; Wk;z—1 CritoTenmps SHTENTS
2

12).Find the modulus of 2 (2-M)
2i 3+4i

msrs&rm &6l I0LIewTewllelr 0L (H LG SHT6ewisH.

13)Find the locus of a complex number z = x +iy satisfying |Z—Z| = 1(5-M)
z—5i
z+5i

Z=x+ iyasip gCHMID @@ SHevLIGILI6HT =1 eafed 6IWIOTHI SIMLOBHHTED

Z —eil  BWLLUTNS  6TIbHTL(Hb.

14) let z{, z;and zzbe complex numbers such that |z{| =1,|z,| = 2, |z3| =3
and|z; + z, + z3| = 1 Prove that |9z,z, + 42,23 + z,23| = 6 (5-M)

Z1,Z,0BEID Z3616m cpeimiseoliOuenise |z = 1,]z,| = 2,|z3] = 3 wbmib

|z + 25 + 23| = laenipeurm o eiteng etefled 9212z, + 42123 + 2,23 = 6 a0 Hmieys.
15)Let. z4, z,andz3;be complex numbers such that |z,| = |z,| = |z3| = >0 and
92129+42123+2223 = 1 (5-M)

|z,| = |z,| = |z3] = r >0 and z; + z, + z3Prove that

zZ1+zy+2z3
Z1,Z, DBOID Z3 616D aApeiiml SevlIQUesidsT |Z1| = |Zy| = |z3] = r >0 wmmnbd

92129+42123+2223
=T el Hpe|s

Z1 + Zy + z3 # OcliBeuTml 2 _6iT6NIgl 6163160

Z1+zy+2z3



